TUS (718)
FEH M=

Z 200g 200g

EE! 37H 374

=== 10g 10g

Ol2E &20|A 10g T 2 10g
e Ho|A 110ml Glf HojA 110ml

O X| 7O 20z

160z H 27 H =
&710f @=Lt

160z 4 27 Mz E2F9|

|A710f @t

[> H2
o
[

= 8718
HSAAEL

)

KHHFME| 2 M BEZ O 7HA| &
B ARHO|AS 55ml (BHFEE

woiECh H

=2
=

KHHEWE] 2 M BEZ Of2{77tX| €82

St 1 S H[0|AZ 55m

[=] T
g 202 woiEC “

mn o
4u 4

o2 @] HOAE AT 0|

ZTNE ®24FE § 0f0|23Y
cgozow e my 2 Ao | 5
g2 #0f

H3ME =& 7l =8N TH|E Yot HX| HO| 2025
M &etCt. 2 E7(0) M FOL MSSHL.




[
e
oz
4
e
oZ
I
4r
=
fu
HL
i
p
i
u
Rl
oot

H = 57|85 e
','n_:'HI IHE " = o |
ot 2
p— 100 2 3kg 5748
£ g
ol 7JfSAl &2/
=] Ho|A 60ml <
=] A1 500g 14 e & e o
CEXE 15g
A5 HojA 60ml "l 300g e
7|9 @) 45 29
LHECLHY | LHE B2 2 T7|% A o
Eérjl 37H oc 2 |r oS ETH'" | H |,_ |'% 6H%A| Iglél- ZOEI
B Hlo|2 UET| (RE7IT: 1FY/ YHED)
=7 AE 100z + E=7| 2074 ZX 27| 9 ui

T7| Hjo]A 521 23 >> 121 60ml

6oz 4 27§ 8= 22

4710 gLt

AL Ip

% 7 2o =R 7|

KHHEME| 2 M BEZ OF2{77HX| 225

¥ 100g (128) & AEsto]

20l S0 =Lt




